4D .

)25°C 101 kPa
57.3 kJ * mol ' 5518 kJ * mol .
( ) o

A.2H"(aq) +S0; (aq) +Ba’*(aq) +

20H " ( aq) ==BaS0,(s) +2H,0(1)

AH= -57.3 kJ * mol ™'

B. KOH( aq) +1/2H,S0, ( aq) ==1/2K,S0,
(aq) +H,0(1) AH= -57.3kJ * mol”'

C.CgH, (1) +25/20,(g) ==8CO,(g) +
9H,0(g) AH= -5518 kJ * mol "

D.2C,H(g) +250,(g) =—=16C0,(g) +
18H,0(1) AH= -5518 kJ * mol '

o 1 mol
H,0(1)
AH >
-57.3kJ *mol ™" A B .
®

C—CO0,(g) .H—H,0(1) .P—>P,0,(s) .S—
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114 »
455000
S0,( g) C ) 1 mol
( ) D o B,
Ba( OH) , * 8H,0
NH,Cl o
( ) .
é“ + ”» (13 _ ”
“+ b4 [43 _ ”(
) N « )
1.
2 ag ( Csz)
1 mol b kJ

(e
A.2C,H,(g) +50,(g) ==4C0,(g) +2H,0(1)

AH= -2bkJ * mol ™'
B.C,H,(g) +5/20,(g)==2CO,(g) +H,0(1)
AH = +2b kJ * mol ™'
C.2C,H,(g) +50,(g)=—==4CO,(g) +2H,0(1)
AH = —4b kJ * mol '
D.2C,H,(g) +50,(g)=—==4CO,(g) +2H,0(1)
AH= +b k] * mol !

AH B.D
: 1 mol b k]
4 mol 4b kJ

AH= —4b k] *mol™" C o . Co
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2.
3 (2014 ) CuCl(s) O,
CuCL, ( s) 25 C+
101 kPa 1 mol CuCl( s)
4.4 kJ o
Cu +1 +2
0, 0 -2
CuO

4CuCl( s) +0,(g) ==2CuCl,(s) +2Cu0(s)
AH= -177.6 kJ * mol ',

3.
1 2 2.
~AH ;3.
AH
AH .
( )
4 (2014 )
25°C 101 kPa
Mn(s) +0,( g) ==MnO,( s)
AH = =520 kJ * mol '
S(s) +0,(g) ==50,(g)
AH = =297 kJ * mol '
Mn(s) +S(s) +20,(¢g) MnSO,( s)
AH = -1065 kJ * mol '
SO,  MnO, MnSO,

o

MnO,( s) +SO,( g)

AH
248 kJ » mol '

MnO,(s) +S0,( )

248 kJ * mol

AH

5

AH; P4( g) + 502( g) :P4010( S)

AH, AH, .

N

AH, > AH, .
2.

43

MnSO,( s)
“AH
“AH

O ) AH

AH =

——MnSO, (s) AH =

s l.g

“kJ" ;
(AH

AH
AH
AH
AH

P,(s) +50,(g) ==P,0,(5)

AH, .

(D Hz( g) + 1/202( g) :Hzo( g)

AH



44 .

AH, =a k] * mol ™'
@ 2H,(g) +0,(g) =—=2H,0 (g
AH, =b kJ * mol '
@Hz( g) +1/20,(g) =H,0(1)
AH, =c k] * mol '
@ZHz( g) +0,(g) =2H,0(1)
AH, =d kJ * mol '

a-b-cd ( ) o
Ala<e<0 B.b>d>0
C.2a=b<0 D.2¢=d >0
ab.cd
B.D X 2a
=b2c =da>cb>d A \C o
3.

7 C( s) =C( s) AH=
+1.19 kJ » mol ™" C( s) +0,(g)=—
Coz( g) AH, C( S) + 02( g) _Coz( g)

AH, . AH,  AH,.
( )
AH, < AH, .
4.
8 F, H,
HF Cl, H,
HCI o

Hz( g) + Fz( g) :2HF( g) AH,
H,(g) +Cl(g) ==2HCI(g) AH,

AH, AH, .
o AH, <
AH, .
5.
9
H" (aq) + OH (aq) ==H,0(1) AH =
~57.3 kJ * mol ™'

: M CH,COOH ( aq) + NaOH( aq) =

2014 12

CH,COONa( aq) +H,0(1) AH, =akJ* mol '
@1/2H,50,( aq) + NaOH( s) 1/2Na,S0,
(aq) +H,0(1) AH,=bkJ* mol™
@HNO,( aq) + KOH( aq) ==KNO, ( aq) +
H,0(1) AH,=ckJ*mol™'

a-bc

( )
Ala=b=c
C.b<c<a

B.b<a<c
D.a<c<b

2>3>0
AH
“AH, <AH, <AH,
6.
10 (2014 n)
Imol  CuSO, * 5H,0(s)
AH, 1 mol

b<c<a C o

CuSO,( s)
AH, CuSO, * 5H,0

£ CuS0, *» SH,0( s)
CuSO0,(s) +5H,0(1) AH,.
( )
A.AH, > AH, B. AH, < AH,
C.AH, + AH, = AH, D.AH, + AH, > AH,

CuSO, * 5H,0( s)

CuSO, * 5H,0(s) == Cu®" (aq) +
SOX"(aq) +5H,0(1) AH, >0; CuSO,( s)
CuSO, ( s) Cu’* (aq) +
SO?"(aq) AH, <0. AH, = AH,
— AH, >0 ALC B D
AH, + AH, AH, .
7.
11 (2014 I )
1.00 L N,0,
N204( g) :2N02( g)
. AH 0( “ Ty,



2H,(g) +0,(g) ==2H,0( 1)
AH= -571.6 kJ * mol '
CH,(g) +20,(g) ==C0,(g) +2H,0(1)
AH = —890 kJ * mol -
H, CH, 112 L(
) co, H,0(])
3695 kJ H,

2014 12 * 45
*
n ° °
225009
« 7 ! «C )
N A
B.D.E g XY~z h
o H, )x 'y '~z \h' g H,
“ 7 o “ m( H,) g. :
" N Zn + H,80, ==/nS0, + H, 1
N o 65 161 2
o A x x’
N 1614, 24
. T65 Y T6s
Al +%HZSO4 :%Alz( S0,) , +%H2 1
N N ag
25% 27 171 3
( Jbe ’ 171B ' 3B '
H, ? :y:7 y’:E
’ X Fe + H,S0, =—FeSO, + H, 1
( 56 152 2
) ( D N L
) \ 222@ z’=2£
° 56 56
> “ i “ CH, ( ) o
" o A.l:'1 B.1: 3 C.1: 4 D.2:3
H,.CH, X~Yo
- AH x+y =5 571.6x/2 + 890y = 3695 x =
1.25 mol.y =3.75 mol 1: 3 B o
12 (2009 )

12014 -09 -09)



